— [ [ =
H = = H
-IIII|IIII|IIII|IIII|IIII|IIII|I

e 0
a a B

F ® =
T 2 =
III|III|III|III|III|III|III|II

L5 £ [ 4
] ] 0 0
a B B B H

— ke =] da LE: [~ -
aomo o & 0 4 o
= B B B B B B BH

Fun E06E quarnatwise, Arcl Asym: Bearm ON, Laser OFF

Flun G098 quanetwise. ISba2 Acym: Baam ON, Lasear OFF
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Flun G0GB cuanebwise, DSbg2 Asym: Baam ON, Lasar OFF

Flun G086 quanetwise, Side Fingar Aaym: Beam ON, Laser OFF
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Flun G096 quanetwise, ISba1 Asym: Baam ON, Lasar DFF
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Flun G096 quanetwise, DSba1 Asym: Baam O, Lasar DFF

Flun G008 quanetwise. Tap Fnger Atyri: Baarm OM, Lasar OFF

I_I.'ﬁ_WEE
:_ Eniias rRohig
— P BE05424
— B e
— . h L Ol r_l'l l-I'I_IJ.-I_l |-|T|-I‘|-.|-|-|-|J.-|-|—v ‘-l-|.-|-|_|-|.-|\r|j" |J-.LLL|-] I'rl = L ch L
1 as a o3 1
lop Fingur Aawr

Acc0 Asym (ppt): 45.26 +/- 54.83
USbg1 Asym (ppt): -1.18 +/- 2.08
USbg2 Asym (ppt): 1.85 +/- 1.39
DSbg1 Asym (ppt): -0.54 +/- 0.29
DSbg2 Asym (ppt): -0.49 +/- 0.27
Top Finger Asym (ppt): -0.64 +/- 1.06
Side Finger Asym (ppt): 0.79 +/- 0.98
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Run 6096, quartetwize: LUSbg1 vs time
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Run 6096, quartetwise: DSbg1 vs time
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Run 6096, quartetwise: vertFing vs time
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Run 6098, quartetwise: USbg2 vs tima
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